
A 

A 

A 

B 

A 

Prod. No.   Weight [kg]
  4537              7,2
  4542              7,2
  4545              1,0
 10044             5,1
 10439             4,4
 10440             3,6
 10878             8,9
 10882             5,4
 10933             1,2
 10964             3,0
 10965            12,4
 10966            14,6

Read the manual carefully before following this guide
Lesen Sie die Anleitung sorgfältig durch, bevor Sie diese Anleitung erfolgt
Lire le manuel d’utilisation attentivement avant de suivre le guide rapide
Lees de handleiding zorgvuldig alvorens deze verkorte handleiding te gebruiken
Läs manualen noggrant innan du följer denna snabbguide 
Les manualen nøye før du følger anvisningene i hurtigguiden
Læs vejledningen grundigt, før du følger denne quickguide
Perehdy huolellisesti ohjekirjaan ennen tämän pikaohjeen käyttöä
Por favor, lea la descripción del sistema antes de usar este guía rápida 
 
User Instruction Safety net fan Standard 10991-10996 
User Instruction Safety net fan MAXI 10997-10999 
User Instruction Safety net fan Corner 11000-11002
User instruction Safety net fan wind lock 10864
 

www.combisafe.com

Safety Net Fan Attachments
Quick Guide

 

10882

10044 10878 10439

10965 1096610964

4542 4537 4545 10933

10440

 

6. 10965/10966

A

100162
M12x120

100162
M12x120

9. 4537

1x/2x

A

4545
   1x

4545
  2x

10. 4542

A

4545
   1x

1x/2x

7. 10439

8. 10440

B

ALT.

10432

A

1x/2x

1x/2x

100114
M12x70
100025
M12

©
 C

om
bisafe International A

B
R

eservation for technical changes.
w

0947 

!
87 n13

750/900

75

205446

388 201

15
0

60

n20

25
0

70

60
50

56
0

50

5025
0

70

MAX 610

17
2

19
6

850

27
0

850

27
0

150-500

68
68

n17



1. 10044

2. 10933

3. 10964

5. 10878

ALT.

10044

4. 10882

100153
M12x80

100025
M12

10882

YY

100153
M12x80
100025
M12

10044

100153
M12x80

100025
M12

100159
M12x110

10
0

35

240

18
6

n18

20

60
100

75

n13

n1311x

148

10
0

10
x

15
0

14
50

35

n13

13
58

n13

690

19
0

890-1100

56
5-

78
0

 

405

255

15
0

21
0

50

n14
17

43


